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POWER ELECTRONICS

freiia @@ : 3 W) [AfrehaT 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
Ae: () YHA-FAATEEY Aea s

Note : There are THREE sections in the paper A, B and C.

(ii) QFTCH FIT GEAT1 & G 10 9771 & FTR 7T | I 917 T 37 1 8 0
Tt 10 57T TGRE IFR S T F & |

Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) QFT & & 8 I § & fasd] 6 Fo7 & I AT | e F97 3 37% F1 8 0d
§9%7 5 TS / 50 Wegl 4 3o 7w |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QFITH 36 5o 4 8 61 4 I971 & IR T | I I97 8 37 1 8 0F
S9HT 15 3T / 150 WG] H I/ 57T |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v)  FI% QT @ GH T B FHAR 0% G1E 5 HIfT |
Solve all the questions of a section consecutively together.

(vi) &l 9TIr3n 7 37 517 @1 Rt 7 318 sgarg & A 8 |

Only English version is valid in case of difference in both the languages.

AR —-T
Section — A
1. () vEH.Im HAmamads -
(a) 10%3HH (b) 10-20%
(¢) 20-25% (d) Vs arHl 25-30%
The latching current of SCR is
(a) Lessthan 10% (b) 10-20%
(c) 20-25% (d) 25-30% of rated current

(10f4) P.T.O.
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(i1)

(iii)

(iv)

(v)

T 1 T e 3 T Ter: sr i oft o et i 2

(a) oS (b) IR
(c) RIS (d) S
The device commonly used for triggering a triac is
(a) diode (b) transistor
(¢) zener diode (d) diac

wH. 5} 3TN, 1 T 31T 5

(a) oM AT9shy o 3T R 9 A st @ |

(b) fera? |

(c) YRWFR*HE? |

(d) I

Turn off time of SCR :

(a) depend on junction temperature and forward current
(b) constant

(c) depend on load
(d) other

TE.HL AW, 6 BN g =aH 9T i 2

(a) U (b) BT am
(c) TAIE YW (d) Wi 8 A w1 T
The minimum current to ‘off” the SCR —
(a) Gate current (b) Holding current
(¢) Anode current (d) None of the above
Teh ¥~ 379 9T § &I dieedl V 9 S 9i5fehe o 2, ) frfa dieear gt
(a) S b) Vx(l-a)
l-a
© — A Vx(l+o)
l+a

In step-up chopper, source voltage is V and duty cycle is o, then output voltage
is

(a) - (b) Vx(l-a)

(¢) ooz (d) Vx(l+a)
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(vi) =T 1 g Asiopet & —

T, 15
(a) —ON_ (b)<- —ON_
Ton + Torr Torr
T, T,
(C) OFF (d) T()N + _OFF
Ton Torr
Duty cycle of chopper is —
T, 4%
(a) —ON (b) —ON
Ton + Tope Torr
T T
(c) 9FE (d Ton * OFF
Ton Torr

(vii) T 98 IUHW R T

(a) uwHLHIAW daeamaa |l (b) THl. Hl v Seerar g |
(© SEtwidd dgaaal () Sl Sl d e g |

Inverter is an instrument which :

(a) changes AC to DC (b) changes AC to AC
(¢) changes DC to DC (d) changes DC to AC
(viii) Ueh Jcfideh ST G WIT BT 8
(a) cifer afmy (b) Tewert uftgy
(c) WU-3Y IEFHR (d) Theet
The main part of inverter is
(a)  Oscillator circuit (b) Rectifier circuit
(¢)  Step-up transformer (d) Filter
(ix) fe® or Het %1 e fremmor fer s g 2

(x)

(a) EATS IR I TeeTah (b) MR favwa i st
(c) fegumaa o fud sgore. (d) Slerd | 9§ IS &

Speed of d.c. motor can be controlled —

(@) By changing supply frequency

(b) By changing armature voltage

(¢) By changing ripple of d.c. current source
(d) None of the above

ST <70 H IR EH a1t FREYH 1 THE 2

(a) wEA (b) B

(c) w*mMEC (d) @D

The type of commutation which is used in Jone’s chopper is

(a) Class A (b) ClassB

(c) ClassC (d) ClassD (1x10)

P.T.O.
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10.

11.

12.

13.

14.

15.

YA — &t
Section — B
frafera ezl gf sritfem vered & o T sl Seft 8 2

Why controlled rectifier device is not fabricated by germanium material ? 3)

ww . 3R, 1 T & 31 THsed |
Explain the natural turn off of SCR. A3)

TTgFel- e 3 IS & S A |

Write any two applications of a cyclo-converter. 3)

Sroft 31T Sreftereh ftwe) bt i & it ferfed |

Write any two limitations of series resonant inverter circuit. A3)

‘B’ YR % =TOR & 3779 &1 FHFA & ¢

What do you mean by type ‘B’ chopper ? A3)
@ H 3R, 9 R § T IR R 7 |
What is the difference between SCR and TRIAC ? A3)
T3 3 IS e I fAfE |
Write any three applications of an inverter. 3
fem G Hiet & g e fren g ?
What is regenerative braking system in D.C. motor ? A3)
A —

‘ Section — C ‘
Shra Rt < wraTra & v E TR, i a9 Srfirsi B aused |
Explain the construction and characteristics of SCR with suitable diagram. 8)
T 3T <1 GO Gl i ST @ AHeed |
Draw and explain the complete protection circuit of SCR. t))
«C T % ST A1 URY Ud qUTEY Higd SHEs |
Explain the ‘C’ type chopper with circuit and waveforms. 3)

mm@mm@qmﬁgm%@—maﬁqﬁﬂm@|

Explain the single phase to single phase step down bridge type cyclo-converter with

diagram. (8)
et BT et ST | TR Sieh <l hraoTTel EHESY |
Give the classification of Inverters. Explain working of the parallel inverter. 3

o, . 37, T TR U g AR deedl freror farfr gron fe wmq Aet s it R
|
Explain the speed control of DC motor by armature voltage control method using SCR. 3)




